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7R [[=tiva (CI | [[=Liva B [[=tiva & &t
1 M EXBAH 3 | EE [REN&FAEHE 11.550 21 10.550 24 12.650 17 34.750
2 | T EBEZE 3 [EE [REIxFAZHE 11.300 24 9.350 30 11.400 28 32.050
3 B K& 2 |[EE [REN&FAEHE 9.950 36 7.700 38 10.900 29 28.550
4 |¥H FF 1 | EE |REI&FAZHE 10.300 33 8.350 36 8.850 38 27.500
5 |FHE AH 1 [#E | BERHiIEREA 9.650 39 6.600 39 9.650 34 25.900
6 |=Ig HHY 2 |8 |[EEWIERR 9.600 40 6.100 41 9.350 35 25.050
7 |INEE BT 2 |8 |EETIUERF 8.800 44 6.300 40 8.800 40 23.900
8 |uO =F 3 |#E |[EHEWIERR 9.250 41 4.700 44 7.350 45 21.300
9 |FR X8 3 | EE [#HEWMIMHWRE 8.300 47 4.050 46 7.750 44 20.100
10 [#HF =K 3 | EE [#HFWmMHWE 8.650 45 4.000 47 7.150 46 19.800
11 |BIFF #0Z= 3 | EE [#HEWMMHWRE 8.450 46 4.850 43 5.750 47 19.050
12 |&k BE 3 | EE [#HFWmMHWE 8.050 48 3.800 48 4.950 48 16.800
13 | HF K& 1 | =B |zena—£5%25HE 6.800 51 2.500 49 0.600 51 9.900
14 |Elf 2% 3 |#0ZrIl (MO ILBAE 7.200 49 1.750 50 0.800 49 9.750
15 |#xH = BEEE T 7.200 49 1.750 50 0.700 50 9.650
16 [E BT HES ZRMI—EBELRIE 0.000 52 0.850 52 0.550 52 1.400
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-7 [mnE EBLF 1 [#E  |IsFluEy 11.150 11.550 11.400 34.100

=2y WA Fiid 1 [#E  |[E&) 10.900 10.300 11.400 32.600

-7 |80 2 3 |iBE &k | 10.500 8.600 10.050 29.150

=77 [/ ERZK 2 |F0FrLL (T H 9.300 9.100 9.300 27.700

-7V |BE BTy 1 [F0FL |THE) 7.950 0.700 0.400 9.050

=7V |BEKR HAH 1 [F0Fr |TEE) 0.000 0.500 0.300 0.800




